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§7.2 �5C��Ý
��qÝ


�V´ ê �F þ � � 5 � m, (α1, α2, · · · , αn)´V � � k S Ä, T´Vþ � � 5 C
�. KTdT (α1), T (α2), · · · , T (αn)� � ( ½. d u(α1, α2, · · · , αn)´V � � k S Ä, ¤

±T (α1), T (α2), · · · , T (αn) �±dα1, α2, · · · , αn���5L«. �

T (α1) = a11α1 + a21α2 + · · ·+ an1αn

T (α2) = a12α1 + a22α2 + · · ·+ an2αn

· · · · · · · · · · · ·
T (αn) = a1nα1 + a2nα2 + · · ·+ annαn

XJ·�PT (α1, α2, · · · , αn) := (T (α1), T (α2), · · · , T (αn)), Kþ¡��ª�±�¤Ý
/

ª

T (α1, α2, · · · , αn) = (α1, α2, · · · , αn)A

Ù¥

A =


a11 a12 · · · a1n

a21 a22 · · · a2n
... ... . . . ...
an1 an2 · · · ann


du�kSÄ(α1, α2, · · · , αn) �½�, Ý
AdT��(½, ¤±±�·�ò¡Ý
A��

5C�T 3kSÄ(α1, α2, · · · , αn) e�Ý
.
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~. �Rθ ´R2 þ_��^=θ ���5C�. �½R2 ���kSÄ�

e1 =

(
1
0

)
, e2 =

(
0
1

)
¦Rθ 3kSÄ(e1, e2) e�Ý
.

). Ï�

Rθ(e1) =

(
cos θ
sin θ

)
= cos θe1 + sin θe2

Rθ(e2) =

(
− sin θ
cos θ

)
= − sin θe1 + cos θe2,

Ïd, Rθ 3kSÄ(e1, e2) e�Ý
�

A =

(
cos θ − sin θ
sin θ cos θ

)
,

=Rθ(e1, e2) = (e1, e2)A.
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~. �M2(F) þ�5C�T (X) = X t. ¦T 3kSÄ(E11, E12, E21, E22) e�Ý
(Ù¥Eij

´1i 11j ����1, Ù{����0 �2 �Ý
).

).

T (E11) = 1E11 + 0E12 + 0E21 + 0E22

T (E12) = 0E11 + 0E12 + 1E21 + 0E22

T (E21) = 0E11 + 1E12 + 0E21 + 0E22

T (E22) = 0E11 + 0E12 + 0E21 + 1E22

Ïd, T 3kSÄ(E11, E12, E21, E22) e�Ý
�

A =


1 0 0 0
0 0 1 0
0 1 0 0
0 0 0 1


=T (E11, E12, E21, E22) = (E11, E12, E21, E22)A.
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�V , W © O ´ ê �F þ �n � �m � � 5 � m, B = (α1, α2, · · · , αn) �C =
(β1, β2, · · · , βm) ©O´V �W �kSÄ, ϕ ´V �W ����5N�, KB ¥Ä�þ
3ϕ e���±dC ù�Ä��/�5L«, =

ϕ(αi) =
n∑

i=1

ajiβj, i = 1, 2, · · · , n,

�¤Ý
/ª, k

ϕ(α1, α2, · · · , αn) = (β1, β2, · · · , βm)


a11 a12 · · · a1n

a21 a22 · · · a2n
... ... . . . ...
am1 am2 · · · amn

 ,

Ù¥m× nÝ


A =


a11 a12 · · · a1n

a21 a22 · · · a2n
... ... . . . ...
am1 am2 · · · amn


¡��5N�ϕ 3kSÄB �C e�Ý
.

öS. SK7.2: 1(1)(���A2), 3, 6
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Ún. �T´�5�mVþ��5C�, α1, α2, · · · , αm ∈ V , A = (aij)´m× sÝ
, K

T ((α1, α2, · · · , αm)A) = (T (α1, α2, · · · , αm))A

y². éuj = 1, 2, · · · , s, �Aj�A�1j���þ, -

βj =
m∑

i=1

aijαi = (α1, α2, · · · , αm)Aj

§�Ý
/ª

(β1, β2, · · · , βs) = (α1, α2, · · · , αm)A

¤±

T ((α1, α2, · · · , αm)A) = T (β1, β2, · · · , βs) = (T (β1), T (β2), · · · , T (βs))

= (T (
m∑

i=1

ai1αi), T (
m∑

i=1

ai2αi), · · · , T (
m∑

i=1

aisαi))

= (
m∑

i=1

ai1T (αi),
m∑

i=1

ai2T (αi), · · · ,
m∑

i=1

aisT (αi))

= (T (α1), T (α2), · · · , T (αm))A = (T (α1, α2, · · · , αm))A

¤±

T ((α1, α2, · · · , αm)A) = (T (α1, α2, · · · , αm))A
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½Â. �(α1, α2, · · · , αn) ´ê�F þ��5�mV ���kSÄ, ½Â8ÜL(V, V ) �8

ÜMn(F) ���N�ϕXe:

ϕ(T ) := A; T ∈ L(V, V ), A´T3kSÄ(α1, α2, · · · , αn)e�Ý


=

T (α1, α2, · · · , αn) = (α1, α2, · · · , αn)ϕ(T )

¡ϕ�L(V, V )�Ý
L«

½n. �V ´ê�F þn ��5�m, N�ϕ ´L(V, V ) �Mn(F) �V�, 
�éu?

¿T1, T2 ∈ L(V, V )Úk ∈ F÷v

(1) ϕ(T1 + T2) = ϕ(T1) + ϕ(T2)

(2) ϕ(kT1) = kϕ(T1)

(3) ϕ(T1T2) = ϕ(T1)ϕ(T2)

(4) ϕ(E) = E

(5) �T1´�_�5C��, ϕ(T−1
1 ) = ϕ(T1)

−1.

`². ½n�(1)Ú(2) `²ϕ ´�5�mL(V, V ) ��5�mMn(F)�Ó�.
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y². �ϕ(T1) = ϕ(T2)K

(T1(α1), T1(α2), · · · , T1(αn)) = T1(α1, α2, · · · , αn) = (α1, α2, · · · , αn)ϕ(T1)

(T2(α1), T2(α2), · · · , T2(αn)) = T2(α1, α2, · · · , αn) = (α1, α2, · · · , αn)ϕ(T2)

¤±T1(αi) = T2(αi), (i = 1, 2, · · · , n), du�5C�dÄþ�����(½, ¤±T1 = T2,
=ϕ ´ü�.

�A = (aij) ∈Mn(F), éuj = 1, 2, · · · , n, -

βj =
n∑

i=1

aijαi = (α1, α2, · · · , αn)


a1j

a2j
...
anj


Kdu�5C�dÄþ�����(½, ¤±�3����5C�T ¦�T (αj) =
βj, (j = 1, 2, · · · , n), Ïd

T (α1, α2, · · · , αn) = (T (α1), T (α2), · · · , T (αn))

= T (β1, β2, · · · , βn) = (α1, α2, · · · , αn)A

¤±ϕ(T ) = A, =ϕ´÷�.
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(1)�yϕ(T1 + T2) = ϕ(T1) + ϕ(T2)

(α1, α2, · · · , αn)ϕ(T1 + T2) = (T1 + T2)(α1, α2, · · · , αn)

= ((T1 + T2)(α1), (T1 + T2)(α2), · · · , (T1 + T2)(αn))

= (T1(α1) + T2(α1), T1(α2) + T2(α2), · · · , T1(αn) + T2(αn))

= (T1(α1), T1(α2), · · · , T1(αn)) + (T2(α1), T2(α2), · · · , T2(αn))

= T1(α1, α2, · · · , αn) + T2(α1, α2, · · · , αn)

= (α1, α2, · · · , αn)ϕ(T1) + (α1, α2, · · · , αn)ϕ(T2)

= (α1, α2, · · · , αn)(ϕ(T1) + ϕ(T2))

¤±ϕ(T1 + T2) = ϕ(T1) + ϕ(T2)

(2)�yϕ(kT1) = kϕ(T1)

(α1, α2, · · · , αn)ϕ(kT1) = (kT1)(α1, α2, · · · , αn)

= ((kT1)(α1), (kT1)(α2), · · · , (kT1)(αn))

= (kT1(α1), kT1(α2), · · · , kT1(αn))

= k(T1(α1), T1(α2), · · · , T1(αn))

= k(T1(α1, α2, · · · , αn))

= k((α1, α2, · · · , αn)ϕ(T1))

= (α1, α2, · · · , αn)(kϕ(T1))

¤±ϕ(kT1) = kϕ(T1)
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(3)�yϕ(T1T2) = ϕ(T1)ϕ(T2)

(α1, α2, · · · , αn)ϕ(T1T2) = (T1T2)(α1, α2, · · · , αn)

= ((T1T2)(α1), (T1T2)(α2), · · · , (T1T2)(αn))

= (T1(T2(α1)), T1(T2(α2)), · · · , T1(T2(αn)))

= T1(T2(α1), T2(α2), · · · , T2(αn))

= T1((α1, α2, · · · , αn)ϕ(T2))

= (T1(α1, α2, · · · , αn))ϕ(T2)

= ((α1, α2, · · · , αn)ϕ(T1))ϕ(T2))

= (α1, α2, · · · , αn)(ϕ(T1))ϕ(T2))

¤±ϕ(T1T2) = ϕ(T1)ϕ(T2)

(4)�yϕ(E) = E

E(α1, α2, · · · , αn) = (E(α1), E(α2), · · · , E(αn)) = (α1, α2, · · · , αn) = (α1, α2, · · · , αn)E

¤±ϕ(E) = E

(5)�T1´�_�5C��, �yϕ(T−1
1 ) = ϕ(T1)

−1

E = ϕ(E) = ϕ(T1T
−1
1 ) = ϕ(T1)ϕ(T−1

1 )

¤±ϕ(T−1
1 ) = ϕ(T1)

−1
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½n. ��5C�T 3��kSÄ(α1, α2, · · · , αn) e�Ý
´A, �þα 3ù�Äe��
I´X = (x1, x2, · · · , xn)

t. K�þT (α) 3Äα1, α2, · · · , αn e��IY = (y1, y2, · · · , yn)
t

�

Y = AX

y². du�þα ÚT (α)3Ä(α1, α2, · · · , αn) e��I©O´XÚY , ¤±

α = (α1, α2, · · · , αn)X T (α) = (α1, α2, · · · , αn)Y

u´

T (α) = T ((α1, α2, · · · , αn)X)

= (T (α1, α2, · · · , αn))X

= (α1, α2, · · · , αn)AX

¤±

(α1, α2, · · · , αn)Y = (α1, α2, · · · , αn)AX

du(α1, α2, · · · , αn)�5Ã', ¤±Y = AX .

`². ½n�Ñ�5C��^��ª.
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~. �V = F3[x], ®�Vþ��5C�T3Ä(1, x, x2, x3)e�Ý
�:

A =


0 1 0 0
0 0 1 0
0 0 0 1
1 0 0 0


éuf(x) ∈ V , ¦T (f(x))

). �f(x) = a3x
3 + a2x

2 + a1x+ a0, Kf(x)3Ä(1, x, x2, x3)e��I�(a0, a1, a2, a3)
t, ¤

±T (f(x))3Ä(1, x, x2, x3)e��I�

A


a0
a1
a2
a3

 =


0 1 0 0
0 0 1 0
0 0 0 1
1 0 0 0



a0
a1
a2
a3

 =


a1
a2
a3
a0


¤±T (f(x)) = a0x

3 + a3x
2 + a2x+ a1
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éu�5N�T : V −→ W , �kaqu�5C��(Ø, e¡·��Ñù
(Ø, §��

y²��5C��¹�y²aq, �ÓÆ��¤.

½n. �V ÚW ©O´�F þ�n ��m �5�m, (α1, α2, · · · , αn) �(β1, β2, · · · , βm) ©

O´V ÚW �kSÄ. K

(1) �3��V�ψ : L(V,W ) →Mm×n(F)¦�

T (α1, α2, · · · , αn) = (β1, β2, · · · , βm)ψ(T ), T ∈ L(V,W )

(2)ψ´�5�mL(V,W )��5�mMm×n(F)�Ó�.

(3) é?¿α ∈ V , XJα3Ä(α1, α2, · · · , αn)e��I´X = (x1, x2, · · · , xn)
t, T (α) 3

Ä(β1, β2, · · · , βm) ��I´Y = (y1, y2, · · · , ym)t. KY = ψ(T )X

öS1. ��¤þ¡½n�y².

öS2. SK7.2: 7,8.
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½Â. �A,B ´�F þn ��
, XJ�3n ��_
P ¦�B = P−1AP , K¡�A �q

uB, P�A ∼ B.

�qÝ
��
{ü5�

(1) Ý
��q'X´���d'X

y². (g�5)duA = E−1AE, ¤±A ∼ A.

( é¡5) dA ∼ BíÑ�3�_
P , ¦�B = P−1AP ,-Q = P−1, KA = Q−1BQ, ¤

±B ∼ A.

( D4Æ) XJA ∼ B,B ∼ C, K�3�_
P,Q, ¦B = P−1AP,C = Q−1BQ. u
´C = Q−1BQ = Q−1P−1APQ = (PQ)−1A(PQ), ¤±A ∼ C.

(2) XJA ∼ B, K|A| = |B|.

y². dA ∼ BíÑ�3�_
P , ¦�B = P−1AP , �ªü>�1�ª�|B| =
|P−1AP | = |P−1||A||P | = |P |−1|A||P | = |A|.

5¿. XJA ∼ B, KA↔ B. ��Ø¤á, �ÓÆ��Ñ���~.(ë�~7.2.16)
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(3) XJA ∼ B
�A�_, KB�_
�A−1 ∼ B−1

y². duA ∼ B, ¤±|B| = |A| 6= 0, ddíÑB�_. 2dA ∼ BíÑ�3�_
P¦

�B = P−1AP , u´

B−1 = (P−1AP )−1 = P−1A−1(P−1)−1 = P−1A−1P

(4) XJA ∼ B, Kéu?¿�K�êm, Am ∼ Bm

y².duA ∼ B, ¤±�3�_
P¦�B = P−1AP , u´

Bm = (P−1AP )m = P−1APP−1APP−1AP · · ·P−1AP︸ ︷︷ ︸
m

= P−1A(PP−1)A(PP−1)A(PP−1) · · · (PP−1)AP = P−1AAA · · ·A︸ ︷︷ ︸
m

P = P−1AmP

(5) XJA ∼ B, Kéu?¿f(x) ∈ F[x]kf(A) ∼ f(B).

y². �f(x) = amx
m + am−1x

m−1 + · · · + a1x + a0, duA ∼ B, ¤±�3�_
P¦

�B = P−1AP , ¿�éuk = 0, 1, 2, · · · ,mkBk = P−1AkP . u´

f(B) = amB
m + am−1B

m−1 + · · ·+ a1B + a0E

= am(P−1AmP ) + am−1(P
−1Am−1P ) + · · ·+ a1P

−1AP + a0(P
−1EP )

= P−1(amA
m + am−1A

m−1 + · · ·+ a1A+ a0E)P = P−1(f(A))P
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½n. ü�n��
A,B �q�¿©7�^�§�´n��5�mV þ,���5C�T
3ØÓÄe�Ý


y². (7�5) duA ∼ B, ¤±�3�_
P , ¦�B = P−1AP . �(α1, α2, · · · , αn)´V
��kSÄ, KéuÝ
A, duL(V, V )�Mn(F)Ó�, ¤±�3V þ����5C�T , ¦

�

T (α1, α2, · · · , αn) = (α1, α2, · · · , αn)A.

-
(β1, β2, · · · , βn) = (α1, α2, · · · , αn)P

duP �_, ¤±β1, β2, · · · , βn �´V ���Ä, 
�

T (β1, β2, · · · , βn) = T ((α1, α2, · · · , αn)P )

= (T (α1, α2, · · · , αn))P = (α1, α2, · · · , αn)AP

= (β1, β2, · · · , βn)P
−1AP

=T 3Ä(β1, β2, · · · , βn) e�Ý
´P−1AP = B
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(¿ © 5)�AÚB© O ´n � � 5 � mV þ , � � � 5 C �T3 Ä(α1, α2, · · · , αn)Ú
Ä(β1, β2, · · · , βn)e�Ý
, =

T (α1, α2, · · · , αn) = (α1, α2, · · · , αn)A, T (β1, β2, · · · , βn) = (β1, β2, · · · , βn)B

�Ä(α1, α2, · · · , αn)�Ä(β1, β2, · · · , βn)�LÞÝ
�P , =

(β1, β2, · · · , βn) = (α1, α2, · · · , αn)P

u´

(β1, β2, · · · , βn)B = T (β1, β2, · · · , βn)

= T ((α1, α2, · · · , αn)P )

= (T (α1, α2, · · · , αn))P

= (α1, α2, · · · , αn)AP

(β1, β2, · · · , βn)P
−1AP

du(β1, β2, · · · , βn)�5Ã', ¤±B = P−1AP .

Ï��q
k�Ó�1�ª, ¤±·��±½Â�5C�T �1�ª

½Â. �T��5�mVþ��5C�, T1�ªP�|T |, ½Â�3V ���kSÄe�Ý

A �1�ª|A|.
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~. �

(e1 =

 1
0
0

 , e2 =

 0
1
0

 e3 =

 0
0
1

)Ú(α1 =

 1
0
−1

α2 =

 −1
1
2

α3 =

 1
1
1

)

´�5�mR3 �ü�kSÄ, T´�5�mR3 þ��5C�, §3kSÄ(e1, e2, e3)e�Ý

�

A =

 2 −3 2
−1 4 −2
−2 6 −3


¦T 3kSÄ(α1, α2, α3) e�Ý
B.

). Äk¦Ä(e1, e2, e3)�Ä(α1, α2, α3)LÞÝ
P , =

(α1, α2, α3) = (e1, e2, e3)P.

�

P =

 1 −1 1
0 1 1
−1 2 1

 , P−1 =

 −1 3 −2
−1 2 −1
1 −1 1

 .

u´

B = P−1AP =

 1 0 0
1 1 0
0 0 1


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~. �

A =

 2 −3 2
−1 4 −2
−2 6 −3


¦An

). �âþ~�A = PBP−1, u´An = PBnP−1, 


Bn =

 1 0 0
1 1 0
0 0 1

n

=

 1 0 0
n 1 0
0 0 1


¤±

An = PBnP−1 =

 1 −1 1
0 1 1
−1 2 1

  1 0 0
n 1 0
0 0 1

  −1 3 −2
−1 2 −1
1 −1 1


=

 1 + n −3n 2n
−n 1 + 3n −2n
−2n 6n 1− 4n



öS. SK7.2: 4,9,10,11.
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